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c=3x10%m/s

h=6.63x10734Js

e=16x101C

Yy = 41 x 107 TmA™!

g, = 8.854 x 10712 C2 NI m2

1
—=9x 10 Nm?2 C?2
4neo

THH I G8IHH (m) = 9.1 x 10> kg
¢ o1 GIHH = 1.675 x 10727 kg
TIetq &1 g0 = 1.673 x 1027 kg
JATANTIGT & = 6.023 x 1023 Ufd 719 A
SiegemH s = 1.38 x 10723 JK-!

General Instructions :

551

)
(i)

(ifi)

(iv)

v)

All questions are compulsory. There are 26 questions in all.

This question paper has five sections . Section A, Section B, Section C, Section D
and Section E.

Section A contains five questions of one mark each, Section B contains five
questions of two marks each, Section C contains twelve questions of three marks
each, Section D contains one value based question of four marks and Section E
contains three questions of five marks each.

There is no overall choice. However, an internal choice has been provided in one
question of two marks, one question of three marks and all the three questions of
five marks weightage. You have to attempt only one of the choices in such questions.
You may use the following values of physical constants wherever necessary :
c=3x103m/s

h=6.63 x 1073*Js

e=16x10"1C

Yy = 41 x 107 TmA™!

g, = 8.854 x 1012 C2 N m™2
1
—=9x10°Nm?C?
4re,
Mass of electron (m,) =9.1 x 103! kg

Mass of neutron = 1.675 x 1027 kg

Mass of proton = 1.673 x 1027 kg

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!
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Tue - A
SECTION - A

fopelt gtz ol fawa=R V deh Iitd foram | afg I e o form § o1 @ 36k

3t~ o7 o foTg =eiehs feTRa |

An electron is accelerated through a potential difference V. Write the expression for its

final speed, if it was initially at rest.

A TS Hott o & IS el THEHH TJEh &3 § Y9 Hd & | 981 &7 h
ST qT GEU & 1 G & 30° 9T ot T B | $9eh g =t T F&T 9 6 AW
fetfaq |

Two protons of equal kinetic energies enter a region of uniform magnetic field. The
first proton enters normal to the field direction while the second enters at 30° to the

field direction. Name the trajectories followed by them.

Wbt ot g farerdH <6 e fSpesii <ht cfieran ferawor a6 Eifsm |

Draw a graph showing the intensity distribution of fringes due to diffraction at single

slit.

AT T T % foTu I B areft S -gresha qu <l st ufer fafew |

Write the range of frequencies of electromagnetic waves which propagate through sky

wave mode.

g <Y e <k aftymer e 37 g@enT SI A fafgu |

Define the power of a lens. Write its S.I. unit.
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qus -

SECTION - B

TR T I3 STIARR %W I8 & afgnieft srfireraaa fefire foret wohamm grasha &= o
e 2 | AB foret Tt @ It & T8 A'B b Wieemt R t = 0 W X fean man 2 |
TUTTeHh &9 8 ST HIfTT T Tm o w12t pugeft § I emf ¥ fop SohR ferror g0 |
(T % St o e shi IUET HIfT |)

A rectangular frame of wire is placed in a uniform magnetic field directed outwards,
normal to the paper. AB is connected to a spring which is stretched to A'B" and then

released at time t = 0. Explain qualitatively how induced e.m.f. in the coil would vary

with time. (Neglect damping of oscillations of spring)

[ ] [ [ ] A’

|o °
C A
|
° ° ° |o °
| JTWT‘—E
° ° ° |o °
|
D ' B
° ° ° |o °

BI

(a) UG TR S 1 TIATST SINIT AT 3TTUfeTeh Jrareheiierdl o 9ef | $Eeh! §aY
ferfee |

(b) < FrehIT UGt A 3R B sl Ui Fraehsficiard 0.96 3T 500 & | Frehi
vererf A 3 B & U= |

(a) Define the term magnetic susceptibility and write its relation in terms of relative

magnetic permeability.

(b) Two magnetic materials A and B have relative magnetic permeabilities of 0.96

and 500. Identify the magnetic materials A and B.
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8. (a) R forerei o wred forga-grareh fefertor w1 wsh 3w G |
(b) Tr=faRaa feufan St smen & fore v e g dfe
() oo am 7, g SIS =Te 9T S @ a9
(ii)  hael T G §, T IS FreTo 9y & 2 |

(a) Give one use of electromagnetic radiations obtained in nuclear disintegrations.

(b) Give one example each to illustrate the situation where there is (i) displacement
current but no conduction current and (ii) only conduction current but no

displacement current.

9.  3H WehTYl i TG T HINTT S fepelt ©Tq o U8 & Seieri Seafoia el & Bl 3.3 Vb
Heeh fawa g quid: Ue feam man g 1 afg 8 x 101 Hz 31afa W 39 91g 9 Yo faega
IS TR Bl STl 7, A 39 91q < foT¢ Rl e (eV H) Tiehiord it |

YT

fopeft I g1 6.0 x 10'4 Hz 3Tafd %1 Tehavfl JehreT Ieq=1 fehar I B | IcdsH &al
2.0 x 103 W B | ufteheta hIfSTT (i) epter forwor gt & foreft e <ht St =1 (ii) &1 g
3G TR T I Tehvg Icafsid g aTel BISiT shi ST <l |

Find the frequency of light which ejects electrons from a metal surface, fully stopped
by a retarding potential of 3.3 V. If photo electric emission begins in this metal at a

frequency of 8 x 10!4 Hz, calculate the work function (in eV) for this metal.
OR

Monochromatic light of frequency 6.0 x 10'# Hz is produced by a laser. The power
emitted is 2.0 x 1073 W. Calculate the (i) energy of a photon in the light beam and
(i1) number of photons emitted on an average by the source.

10.  Toreht gregiom W] § (i) fedfir 3Taa ST TR 8 969 TR 9T (i) ITaH STHd Sl Wi
¥ Tt arHa TR o forelt soiagia & Hehu & W Il fafeReor it mafa
ITUTA THEh{oTd hITTT |

Calculate the ratio of the frequencies of the radiation emitted due to transition of the
electron in a hydrogen atom from its (i) second permitted energy level to the first level
and (i1) highest permitted energy level to the second permitted level.
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U -|
SECTION - C
11, foega worem shi aftamt ferRae aem saent SI A fafeay | fom o feam 7o forga & saea
E, = ax, E, =0, Ezzo%,aﬁaz%,méﬂﬂmé;aﬁW?ﬂqﬁmq?ﬁm,
a=0.1m AT |
y
0) ! >X
< a —|/”
/ !
Z
3T

TH o 2.0 x 10* N/C! ufmmr o THeAH fogd & § 1.5 om g0 a6 fiRar @
(e () Torm stereen & =retent 34 gl e T 3 Soiergiel g foTe 18 &t <hT witehet hifT |

HES

Ny &
(a)
&1 ST T FHM T@d g I $8h! e Ichfid (3edl) < 9w (Fast b) Ot v
T G 31 gl ek I H foTT T & 1 aitepetd shiir |

DU

- -

+

(b)

Define electric flux and write its SI unit. The electric field components in the figure
N

shown are : E, = au, Ey =0, E, =0 where o = Cm Calculate the charge within the

cube, assuming a = 0.1m.

y
! T
i

O — —> X

<— a —>| 7
a

Z
OR
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An electron falls through a distance of 1.5 cm in a uniform electric field of magnitude
2.0 x 10* N/C (Fig. a)

+ + + + + +
(a)

Calculate the time it takes to fall through this distance starting from rest.

IRy

- -

+
(b)
If the direction of the field is reversed (fig. b) keeping its magnitude unchanged,
calculate the time taken by a proton to fall through this distance starting from rest.

€ 3 €, emfﬁ??ﬁﬁ?ﬂ%ﬂ%ﬁ AT T shAST: I 3ﬁ'{r2§, W%ﬂfﬁﬂ?ﬁﬁﬁ% -
(i) TN % ged Ufaly, qu

(i) GFSH % oI emf
% o7 =tes I It |

Two cells of emfs &, & ¢, and internal resistances r, & r, respectively are connected
in parallel. Obtain expressions for the equivalent.

(1) resistance and

(1)) emf of the combination

(a) T TR foed awETE! =Terehi % of" @ 9Tl 96 o 961 ° foRd O % SI A
=61 afean G |

(b) T G H YU d % G v HIY HHIRI FTetehl § SHM TR [ 3R [, Fr amrd
JeTfEd 81 Wl 8 | 39 FTcieh] o s 3TRYUT <h SHTEAT fohE TehI <l 511 Gkl B 7 afe
T QI =TeTehi o Sieh Aed H forelt ofier =imereh i, e om [ fordia fem 4 wafea
B @ 2, W@ fean e a fer =rers W wRia afond s 3 i |
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(a) Define SI unit of current in terms of the force between two parallel current

carrying conductors.

(b) Two long straight parallel conductors carrying steady currents I, and I, along the

same direction are separated by a distance d. How does one explain the force of

attraction between them ? If a third conductor carrying a current I in the

opposite direction is placed just in the middle of these conductors, find the

resultant force acting on the third conductor.

14. (a) I [ <Hean 1 3 AYfaa T el dieriae & o 7, df Rageha: gfad st
< fteran @ Bl } 7 1 98 Werias o srfrfemmg o it st @ 7 o e hl
ST SHIT |
(b) IS TUAS gfad Teprer 4 fohet diertiare o TSt 8 | UM% R TIeiigg o gui i
% 1Y Teh T sk W UTCTIA FehreT <hl o <hT fereror guisu |

(a) When an unpolarized light of intensity I is passed through a polaroid, what is

the intensity of the linearly polarized light ? Does it depend on the orientation of

the polaroid ? Explain your answer.

(b) A plane polarized beam of light is passed through a polaroid. Show graphically
the variation of the intensity of the transmitted light with angle of rotation of the

polaroid in complete one rotation.

15. 39T foRU 71T US| <hl ARG Sid §U ST oh TehTel ToR[d HHIhIUT i Jeoig HifT |

2
Vmax
Ok n —

14\ /// Vv —>
-

¢/

3R v 1 TehreT Feret ShTsT GUTE I8 TR SATIGH LT § | Sragil <hl SAfehad =Te o
T (V2 ) SR SR (v) o STl 6 TR ¥ AT STER R | ATl £, n T G 61
S m o UGl H TS o JehreT forgla Siehtu s ST 3hid gU (i) Welieh fHardies 37
(ii) STehTST GITE UeTe o Sl Bl o folt STeh T HIT |
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State Einstein’s photoelectric equation explaining the symbols used.

!

v max

0]

<—n_/

N

Y

/,/ v
,/

Light of frequency v incident is on a photosensitive surface. A graph of the square of

the maximum speed of the electrons (V2

max) vs. v is obtained as shown in the figure.

Using Einstein’s photoelectric equation, obtain expressions for (i) Planck’s constant

(i1) work function of the given photosensitive material in terms of parameters /, n and

mass of the electron m.

16. (a) Torelt faeaatit o et 1 Feafost STl b1, $eh ofi ) Geh o hotd o &9 H,
Torertor T Wiwret TTET | 37 &1 i 3ifehd HIFTT ST&T AT 97 (1) AT, qen
(ii) SfcreeT 2 |
(b) <t A Tfrehe srffeRam —
235 a 94
n-+ U— Xe + Sr + 2n
92 54 b
H a 3R b < HH i HIf |
(a) Draw a plot showing the variation of potential energy of a pair of nucleons as a
function of their separation. Mark the regions where the nuclear force is
(1) attractive and (ii) repulsive.
(b) In the nuclear reaction
235 a 94
n-+ U— Xe + Sr+ 2n
92 54 b
determine the values of a and b.
5511 9
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17. (a) To=1 o g et o feu T Haie & fo gemm aneft fafe |

A

B

(b) TrH BIEI-SHTE % TETe 6l H&T T ST i |

(a)  Write the truth table for the combination of the gates shown in the figure.

A

B

(b) Explain briefly how a photo diode operates.

18. IS Icgsieh fo=Im8 § n—p-n THIEH TSRt T ATHifehd qiuer TR Eifae | g8a o
TR T foh T8 2ot Aicedl Jatish o €9 § fohd Yo TN {3l ST &

Draw a labelled circuit diagram of n-p-n germanium transistor in common emitter

configuration. Explain briefly, how this transistor is-used as a voltage amplifier.

19. (a) SR foRtT STRE hi FETIAT § I8 gITsT b forelt taraet guur st 3w femeft g <6
e 37T Irafia forea 1 9 S 4 fhe TR fhan a2 |
(b) U ToRTUT 3TR@ T STINT Hieh ¢4 FF 3R Rash maeq & fow =uere wm
i |

(a) With the help of a ray diagram, show how a concave mirror is used to obtain an

erect and magnified image of an object.

(b) Using the above ray diagram, obtain the mirror formula and the expression for

linear magnification.

551 10 cn
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20. (a) ST HEd FEH T Iooi@ it 3T 30 Afey ®Y § e hifsy |

(b) SN HTES e 1 TR ek ¢ e Y g pueet!, fSeE g [ venfa g @ 2
o HRUT I8k & T FUST! o g § gl x T FRq Topell forg Tt grarehly &1 o foig
STk T I |

(a) State Biot — Savart law and express it in the vector form.

(b) Using Biot — Savart law, obtain the expression for the magnetic field due to a
circular coil of radius r, carrying a current I at a point on its axis distant x from
the centre of the coil.

21. fertis o frami o1 s ohtd U feu T uftvy 3@ § B 3R D & e favara ufesfoa
Hf |

[ 2V,20
I I

LV, — 2Q — 1V,
1Q 1Q

D 1] C

Using Kirchhoff’s rules, calculate the potential difference between B and D in the
circuit diagram as shown in the figure.

A 2V,2Q

1V, — 20 — 1V,
1Q 1Q

22. (i) ARt 3R faada & 3= fhatl o o= g 9e foifaw |
(i) = % feneht faferdt i & forfel & 9 ft W fodra o w B o &t € 1 afe o
o1 TarfEt i 31 5 cm TR &L, @ Tha-=ters 3 30 um &1 9iEdq & Srar
2 | fean & o forfi & /e 1 g 1 mm 2 | STANT foRU T SR hl TR

qfehfera Shifs |
55/1 11 /i1
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(i)  Write two points to distinguish between interference and diffraction fringes.

(i) In a Young’s double slit experiment, fringes are obtained on a screen placed a
certain distance away from the slits. If the screen is moved by 5 cm towards the
slits, the fringe width changes by 30 um. Given that the slits are 1 mm apart,

calculate the wavelength of the light used.
gie —-¢
SECTION — D
it Teterer! srames il 3T 35 W o8 #ieh @Sl g A 7 off | 3% srcfuss
et 8 @ ot | 3R Tt et 32 gkt o e o A | gieret 7 sfieht Trstereaft <t gl
®IeITH foram 3R arn o g€l g2 T B | 3= T i Savaeh TR o 1 qime
fea |
(a) el &1 RIS o | 3T g4 aTet feregd - grarehi faferton = am ferfen |
(b) 3 fafertor fpm TR S fpu SId 2 2
(c) W fohu ST oot ferega-grarhia farfertont i dmeet o1 wm faafaw |
(d) e g el gl 7o ferfa |

Mrs. Rajlakshmi had a sudden fall and was thereafter unable to stand straight. She was
in great pain. Her daughter Rita took her to the doctor. The doctor took a photograph
of Mrs. Rajlakshmi’s bones and found that she had suffered a fracture. He advised her

to rest and take the required treatment.

(a) Name the electromagnetic radiation used to take the photograph of the bones.
(b) How is this radiation produced ?

(c) Mention the range of the wavelength of this electromagnetic radiation.

(d) Write two values displayed by Rita.

12
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9gug — g
SECTION - E
21 fareg 31 q 3R — q AW (0, 0, —a) 3 (0, 0, a) forgai W@ F |
(a) (0,0, z) 3 (x, y, 0) W R feorega fawa aftesfera shifsre |

(b) Tereht oTe wliequr e s X-31&1 % IFfew (5, 0, 0) & (=7, 0, 0) T o IH
feperr sl fepan ST 2 7

(c) 38 Teufd o 3119 319 I T 1 aREdH il TG TI&u 3T 1, 371 o fargati
o 1 99, X378 o STfC 7 IR I3 3T ATGFo0 T 7l 7
(d) 37e Afg ST formg et i ot whamT rer forel & E o 3+ fRufot & wa
ST, 1 39 3o T <hl 38eh 3Tl Hqa o formme H FRYfst et o/ ghft 2
T TR H 37 IR I IE HIT |
YT

C, ufear & foreht genfe 1 fava v, de Safe €, it @ 1= danfe i favea=wm v,

Teh ST fohall T B | 376 59 GUTIGE] ehT 3191 - T 3TavH s & fornfora shteh

30 Toh-gER § THIG B TG foham T & | ;1 Hifere |

(a) UH-gHLH HAINSIA T W Yol 3 M1 ST | gied oo ol

(b) 7 QT HUTRET o AT S H Hied Het ol

(c) WU §ASH § Hied Het Hofl 3 §AIfd i & qd 390 pot Fiad ol o o
FTR ! FRAT HIWT |

Two point charges q and —q are located at points (0, 0, —a) and (0, 0, a) respectively.
(a) Find the electrostatic potential at (0, 0, z) and (x, y, 0)

(b) How much work is done in moving a small test charge from the point (5, 0, 0) to

(=7, 0, 0) along the x-axis ?

13
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(c) How would your answer change if the path of the test charge between the same
points is not along the x-axis but along any other random path ?

(d) If the above point charges are now placed in the same positions in a uniform

external electric field ﬁ, what would be the potential energy of the charge
system in its orientation of unstable equilibrium ?

Justify your answer in each case.
OR

A capacitor of capacitance C, is charged to a potential V| while another capacitor of
capacitance C, is charged to a potential difference V,. The capacitors are now

disconnected from their respective charging batteries and connected in parallel to each
other.

(a) Find the total energy stored in the two capacitors before they are connected.
(b) Find the total energy stored in the parallel combination of the two capacitors.

(c) Explain the reason for the difference of energy in parallel combination in
comparison to the total energy before theyare connected.

(a) ITIIIF A-C EId <hl ST b &1 AN Sfcrerra qim St Sfaemd s fo=ror gori
o fo1e o7k @it |

(b) TH AC &I 4 e fereft RC 2ioft aftay =1 %eit 3@ it |

(c) = forsft Ffaa X o Rl T 220 V Sermad dieedT ST hl STt 8 a1 389 0.25A

oI YTfed Al @, S hell # ST deedt § 5 e WA At 2 | 9w g
dieedr i et 311 Flord ¥ o Rdl W Srgyger femarm STan 8, @ |9 9T YaTted
Bl & T 319 g AR dledl sl &l el § Bl 8 |

(i) Il X 3R Y & am fafaw |

(i) 3% feufa o uftuy O Yt om0 uitehferd HifSe STe 36} dieedr s X @Y &
Suft TR T SAueR R ST 2 |

JYET

14
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(2)
(b)
(©)
(d)

(2)

(b)
(©)

(b)
(©)
(d)

(2)

(b)
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feret g o1 iR firgr ferftay |
Tereft TamhTHR <t gara <ht aftumT fetfgu |
foregl <1 B! 1 Ieot@ HIRTT it fereft STABIHT Y ST FH H T B |

gfe frfa wfata 440 Q 7, @ 220 V 1 22 V ¥ gfEfdd 6 9 90% <&rdr &
STTETRf TR i Tt Hueet § TaTiad 9T qiehiord shifag |

Draw graphs showing the variations of inductive reactance and capacitive

reactance with frequency of the applied ac source.

Draw the phasor diagram for a series RC circuit connected to an ac source.

An alternating voltage of 220 V is applied across a device X, a current of 0.25 A
flows, which lag behind the applied voltage in phase by % radian. If the same

voltage is applied across another device Y, the same current flows but now it is
in phase with the applied voltage.

(1) Name the devices X and Y.

(i) Calculate the current flowing in the circuit when the same voltage is

applied across the series combination of X and Y.

OR
State the principle of working of a transformer.
Define efficiency of a transformer.
State any two factors that reduce the efficiency of a transformer.

Calculate the current drawn by the primary of a 90% efficient transformer which

steps down 220 V to 22 V, if the output resistance is 440 Q.

39 T 6t AT ¥ p-n WY SRS & Fmi0r § B aTeft & HEwqur aRfsmna
Sl =T HIfSTT | 37a: (i) BTET & q (i) Ve fasra shi afem faRew |

Teh 3Tk S=H U p-n TiY SRS 1 U9y o S18T 3R 35! SHrifafe 6
STEAT hHITT |
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(b)

(a)

(b)

(@)

(b)
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3 I hIehl %1 HaT H sARe] hIY | S 2red AT femet sl ovel o 3t gl W
T S | AT <hl STTavIehdT hl =IRIETd SEUd % |
Tt = Tured ST : (i) aTgeh U (ii) Higeteh RITe Qe (iii) 3T Higed

aaT

Explain with the help of suitable diagram, the two processes which occur during
the formations of a p-n junction diode. Hence define the terms (i) depletion

region and (i1) potential barrier.

Draw a circuit diagram of a p-n junction diode under forward bias and explain its

working.
OR

Describe briefly three factors which justify the need for modulation of audio

frequency signals over long distances in communication.

Draw the waveforms of (i) carrier wave, (ii) a modulating signal and

(i11) amplitude modulated wave.

16
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Strictly Confidential (For Internal and Restricted Use only)
Senior School Certificate Examination
Marking Scheme - Physics (C) (Code 55/1, Code 55/2, Code 55/3)

The marking scheme provides general guidelines to reduce subjectivity in the marking. The answers given
in the marking scheme are suggested answers. The content is thus indicated. If a student has given any other
answer, which is different from the one given in the marking scheme, but conveys the meaning correctly,
such answers should be given full weightage.

. In value-based questions, any other individual response with suitable justification should also be accepted

even if there is no reference to the text.

Evaluation is to be done as per instructions provided in the marking scheme. It should not be done
according to one's own interpretation or any other consideration. Marking scheme should be adhered to and
religiously followed.

. If a question has parts, please award in the right-hand side for each part. Marks awarded for different part of

the question should then be totaled up and written in the left-hand margin and circled.
If a question does not have any parts, marks are to be awarded in the left-hand margin only.
If a candidate has attempted an extra question, marks obtained in the question attempted first should be
retained and the other answer should be scored out.
No marks are to be deducted for the cumulative effect of an error. The student should be penalized only
once.
Deduct ¥ mark for writing wrong units, missing units, in the final answer to numerical problems.
Formula can be taken as implied from the calculations even if not explicitly written.
In short answer type question, asking for two features / characteristics / properties if a candidate writes three
features, characteristics / properties or more, only the correct two should be evaluated.
Full marks should be awarded to a candidate if his / her answer in a numerical problem is close to the value
given in the scheme.
In compliance to the judgement of the Hon’ble Supreme Court of India, Board has decided to provide
photocopy of the answer book(s) to the candidates who will apply for it along with the requisite fee.
Therefore, it is all the more important that the evaluation is done strictly as per the value points given in the
marking scheme so that the Board could be in a position to defend the evaluation at any forum.
The Examiner shall also have to certify in the answer book that they have evaluated the answer book strictly
in accordance with the value points given in the marking scheme and correct set of question paper.
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title paper,
correctly totaled and written in figures and words.
In the past it has been observed that the following are the common types of errors committed by the
Examiners

e Leaving answer or part thereof unassessed in an answer script.

e Giving more marks for an answer than assigned to it or deviation from the marking scheme.

e \Wrong transference of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying.

e \Wrong transference to marks from the answer book to award list.

o Answer marked as correct (V) but marks not awarded.

e Half or part of answer marked correct ( /) and the rest as wrong (x) but no marks awarded.
Any unassessed portion, non-carrying over of marks to the title page or totaling error detected by the
candidate shall damage the prestige of all the personnel engaged in the evaluation work as also of the
Board. Hence in order to uphold the prestige of all concerned, it is again reiterated that the instructions be
followed meticulously and judiciously
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MARKING SCHEME( COMPARTMENT) 2018

SET55/1 SET 1

Q.NO.

VALUE POINTS/ EXPECTED ANSWERS

MARKS

TOTAL
MARKS

SECTION A

QL.

3 /Zev
m

Q2.

Normal : Circular

At an angle of 30° it will follow helical path

Y

Y

Q3.

relative
imtensity /T

/ I"l,l

\

posibon on SCresan

Q4.

From few MHz to 30-40 MHz

Q5.

The power of a lens equals to the reciprocal of its focal length( in meter).
Also accept
_ 1

b= f (meter)

Do not deduct mark if student does not write the word meter.

( Alternatively

Power of a lens is the ability of conversion /diversion of the rays incident on
the lens.)

Sl Unit: Dioptre(D)

%

%

SECTION B

Q6.

SHM nature of oscillation of the wire AB Y2
Expression for instantaneous magnetic flux Ya
Expression for instantaneous induced emf Y2
Qualitative explanation Ya

The wire AB would oscillate in a simple harmonic way
We can write

X =—acos ot

(asx=-aatt=0)

Therefore Instantaneous magnetic Flux

#(t)=BIx (1=AB)

Y

%

QB365 - Question Bank Software
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Instantaneous induced emf
d )
e(t)= _d_? =aBlw sinwt

The induced emf, therefore varies with time sinusoidally.

( Alternatively

Arm AB executes SHM under the influence of restoring force developed in
the spring, consequently an induced emfis produced across the ends of
moving armAB which varies sinusoidally.)

(Give full credit for the above part if the student explains qualitatively without
using mathematical equations)

Y

Y

Qr. (a)Definition o
Relation Ya
(b) Identification of A and B Yot Yo
(a) Measure of the response of magnetic material to an external magnetic field. y
Also accept :
Ll
[H|
We have
x=(u-1) j
(b) 0.96 : Diamagnetic 1/2
500 : Ferromagnetic :
Q8. (a) One use 1
(b) One example each Yot Yo

(a) used to destroy cancer cells

(b) (i)The region, between the plates of a capacitor, connected to time varying
voltage source,has a displacement current but no conduction current.

(if) The wires, connected to the plates of a capacitor, joined to a time varying
or steady voltage source, carry a conduction current but no displacement
current.

( Alternatively

A circuit, having no capacitor in it, and carrying a current has conduction
current but no displacement current. )

%

%

SET 55/1 Page 2 of 18
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Q9.

Finding the Work function 1

Finding the Frequency of incident light 1
We have

W =hy,

=6.63x10* x8x10" J

B 6.63x10°x8
 1.6x107Y
—3.315eV

We have
hv =W +eV,

=(3.315+3.3)eV
6.615x1.6x107"°
V=
6.63x10°
=1.596x10" Hz

OR

Calculating
0] Energy of a photon Yo+ Yo
(i) Number of photons emitted Yot Yo

Energy of photon=hyv
=6.63x10* x6.0x10* J
=3.978x107°J

=2.49eV
power
energy of photon

Number of photons emitted per second =

_20x10°J /s
3.978x107* J

=5.03x10" photons /second

Y

Y

Y

%

Y

Y

Y

%
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Q10.

Formula 1

(1) Frequency of first case 9
(i) Frequency of second case A
Ratio 1,

We have
hv =E, —FE,

_E, E

—0 __~0
an niZ
1 3
P2l
1

" 1 1
(i) hv, = Eo(?—g) =E, ><Z

(), = E (5

g

Vs,

Y

Y

Y

iz 2

SECTIONC

Q11.

Definition of Electric flux 1
Sl unit Ya
Formula (Gauss’s Law) Ya
Calculation of Charge within the cube 1

Electric Flux is the dot product of electric field and area vector.
Also Accept

o= $E.ds
SI Unit: Nm?2C or volt -meter

For a given case
¢=¢ +¢,=|E (atx=2a)-E, (atx=a)|a’

=[a(2a)-a(a) &’

=100x(0.1)’ =0.LNm?/C

But
p-9
€
5O =¢gu)=8.854x10""x107'C
=0.8854pC
OR
Relevant formulae 1
Calculation of time taken by the electron 1
Calculation of time taken by the proton 1

%

Y

Y

Y
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We have
Force =qE
Acceleration a = E
m
Also
1 5
s=—at° asu=0
2
2
R
a
(i) For the electron
eE
a=—
m
_\/ 3x107%x9.1x10™
1.6x10°x2.0x10*
=2.92ns
(ii) for proton

t_\/2><1.5><10‘2><1.67><10‘27
1.6x107" x 2x10*
= 0.125u5

Y

Y

Y

Y

%

%

3
12.
Obtaining Expression for the equivalent
(i) resistance
(ii) emf
%
1 1 1
_—__|__
r n L
%
r— L
n+r,
=1, +1, %
VvV = E,; b, and V =E, —1I,r,
. E.—V,(E.~V %
£l r>
v E,r, + E,r, ' nr, %
n+r n+r
also Vv =E,, — Ir,
— Eeq _ E., + E. 3
g r, r, Y

0B365 - Question Bank Software
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Q13.
(a) Definition of SI unit Of current 1
(b) Explanation of the force of attraction %
Finding the resultant force acting on the third conductor 1%

(@) The ampere is the value of that steady current which, when maintained
in each of the two very long, straight, parallel conductors of negligible
cross-section, and placed one metre apart in vacuum, would produce 1
on each of these conductors a force equal to 2 x 10~" newton per metre
of length.

(b) The wire (b) experiences a force due to the magnetic field caused by

the current flowing in wire (a).

The magnetic field at any point on the wire (b) due to the current in wire
(@) is is perpendicular to the plane of two wires and pointing inwards
and hence force on it will be towards wire (a). Similarly force on wire
(@) will be towards wire (b). Hence two wires carrying currents in same
direction attract each other.

%

Force on wire (3) due to wire (1) ! 2 3
_ talal, towards right I L %
d la 4 \ Is
27[() '
2 |
Force on wire 3 due to wire 2 W2 df
/uolb Ic

towards left %

20

Net force on wire 3

_ ol
T

Also accept

ol
I, — 1 | towards left
zd [ b a]

[1,—1,] towards right %

Note: please do not deduct last 1/2 mark if the student does not write the
direction of force.

SET 55/1 Page 6 of 18
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14

a) Intensity of linearly polarized light — %
Dependence on orientation -%
Explanation -1

b) Graphical representation -1

a) The intensity of the linearly polarized light would be 10/2.

No; it does not depend on the orientation.
Explanation : The polaroid will let the component of the unpolarized light, parallel
to its pass axis, to pass through it irrespective of its orientation.

b) We have I = I,cos?8
=~ The graph is as shown below

v

iz
V2

Y

15

Statement of equation with explanation of symbols — 1
Expression for
i Planck’s constant -1
ii.  Work function -4

Einstein’s photoelectric equation is

hv = hvy (= W) + %fmv,znax
v = frequency of incident light
vy = threshold frequency of photo sensitive material

W = work function

1
> mv2,,, = max.kinetic energy of the emitted photoelectrons

(Also accept if the student writes
hv =W + el

W = work function of photosensitive material
V; = Stopping Potential)

From Einstein’s photoelectric equation, we have

1 2
hv =W + 5 MVinax

) 2
" Vmax = % (hv = W)

B2
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Slope of the given graph = % %
1,
Intercept on they —axis=—1[ %
iz
oo & = ﬁ or h = ﬂ 2
m n oW 2n ,
and-£’=270rW=m7 Y 3
16 a) Drawing the plot -1
Marking the relevant regions - % + %
b) Finding values ofaandb -+ ¥
a)
)
=
Slo |
= —103)\// 1
For r > 1y, the force is attractive iz
For r < 1y, the force is repulsive %
a) We have,
1+235=a+94+2X1
~a=236-96=140 iz
Also
0+92=54+b+2X0
~b=92-54=38 i 3
17 a) Writing the truth table -1
b) Photodiode and its operation—1 + 1
a) The inputs of the third gate are A and B. Hence the truth table is as given
below.
A B A B C 1
0 0 1 1 0
0 1 1 0 0
1 0 0 1 0
1 1 0 0 1
(Note: The student need not write the columns for A and B in her/ his answer)
(b) A photodiode is a special purpose p — #n junction diode fabricated with a
transparent window to allow light to fall on the diode.
Incident light, with photon energy greater than the energy gap of the semi- ,
conductor, generates electron -hole pairs. The magnitude of the photo %
current depends on the intensity of intensity of incident light.

SET 55/1 Page 8 of 18
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The photodiode is usually operated under reverse bias conditions. %
This is because this makes it easier to detect changes in light intensity and
makes the photodiode work as a detector of optical signals. %
3
18 Labelled circuit diagram -1
Working as a voltage amplifier - 2
£l
I
I, HI______..{ I,
I { |"--:| L
I ™a = ™ 1
- —=*
) I, T
i -I-' "|I__l: ‘IJ W
Working as a voltage amplifier:
When a small sinusoidal voltage (with amplitude ) is connected in series with the y
dc bias voltage supply, Vgg, the base current will have sinusoidal variations super 2
imposed on the value of I.
As a result, the collector current will also have sinusoidal variations super imposed %
on the value of I...
This results in corresponding sinusoidal variations in the value of the output voltage Y
V.
These sinusoidal variations in output voltage are an amplified version of the %
corresponding variations in the input voltage. This implies that the transistor can be
used as a voltage amplifier.
(Note : Give 1 mark to those students also whoonly draw either this circuit
diagram or the circuit diagram given below:
I
B
mA
I.... [ - { R,
: ) l*f -
R Ty = E V= =L i
P Ta
) L
I" J\‘ 1":‘{]? ¥
3
19 a) Raydiagram -1
b) Obtaining
i mirror formula -1%
ii.  expression for liner magnification — %

0B365 - Question Bank Software
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a) Ray Diagram

N
:_...-?
c - _' B .
From similar triangles A'B' F and MPF, we have
I al ! ! ! !
54 _BF orﬁz EE ( since PM = BA)
PM FP BA FP
From similar triangles A’B'P and ABP, we have
B'A" B'P
BA ~ BP
! !
Hence BEE_EBP %
FP BP

NowB'F = B'P+PF = (+V)+ (— #)
= — ;ﬁ
BP=—u

v — + v
Lot ”
_/l)’ —

or —+1=—
u

) 1 N 1 _ 1

v ow £ %

This is the mirror formula.

I

. o B'A
Linear magnification = ”

From similar triangles A’B’P and ABP, we get

B'A" B'P
BA  BP
-~ Linear magnification
!
BP_tv_ _ v %
BP —u u
3
(a) Statement of Biot-Savart law % Mark
Its vector form Y2 Mark
(b) Obtaining the required expression 2 Mark

SET 55/1 Page 10 of 18
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(a) According to Biot Savart law :

In vector notation,

— dixT
dB=to =
At r
(b)
Y
dz — daB,
" — . AdB
& = — “pas X
dil
=z
— \de F‘
We have dB =—°I—3
4r r
r’=x*+R?
B [T dl

_E(xz +R?)¥?

Hence, B=I“—°%cose.
4t (X°+R”)
(R (DR

= E(X2+R2)3/2.
___nglIR?
2(X2+R2)3/2

T L G
2(X2 " R2)3/2

The magnitude of magnetic field dB, due to a current element dT, is
(i) proportional to current | and element length, dI
(ii) inversely proportional to the square of the distance r.

Its direction is perpendicular to the plane containing dI and 7.

We need to add only the components of dB along the axis-of the coil.

Yo

Yo

Yo

Ya

Yo

Yo

21.

Writing the two loop equations
Finding the current through DB
Finding the p.d. between B and D

%+ % Mark
1% Marks
% Mark

Using Kirchoff's voltage rule, we have :
For loop DABD
lx1+(1)+(-2)+21+2(l;+1,)=0

Or 5h+2hL=1 ... (i)

For loop DCBD
+lhx3+(3)+(-1)+1L+2(li+1)=0

Or2li+61=-2 ...(ii)

e
1
Ya

Yo

QB365 - Question Bank Software
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Solving (i) and (ii), we get

h==A
13 1
-6
I = = A
7
..Current throughDB =11+ 1, = A
13 ¥
.. P.D. between Band D=0.154V 1%
22.
(a) Two points of difference Y%+ % Mark
(b) Formula % Marks
Calculation of wavelength 1% Mark
(a)
Any two point of difference :
Interference Diffraction %+
Fringes are equally spaced. Fringes are not equally spaced. V2
Intensity is same for all maxima Intensity falls as we go to successive
maxima away from the centre.
Superposition of two waves Superposition of a continuous family
originating from two narrow slits. of waves originating from each point
on a single slit.
Maxima along an angle A/a for two | Minima at an angle of A/a for a
narrow slits separated by a single slit of width a.
distance a.
(b)
Let D be the distnce of the screen from the plane of the slits.
We have
AD
Fring width B=—
d %
In the first case
AD
=— 0 BA=AD oot s i
p q p (i) y
In the second case
- D-0.05 -
(B-30x10 G)ZMT) or (B-30x1070)d = AD - 0.05) oo (i)
Subtracting (ii) from (i) we get %
30x10%xd=XAx0.05
30x1070 <1073
A= > m
5x10™
L= 6x10""m =600 nm 1
%
23. SECTION - D
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(a) Name of e.m. radiation % Mark

(b) Method of production % Mark

(c) Range of wavelength 1 Mark

(d) Two values 1+ 1 Marks
(a) X-rays

(b) By using X-ray tubes
(Alternatively : By bombarding a metal target with high energy electrons)

(c) Wave length range of X-rays is from about (10 nm to 10* nm)
g g y

(d) Alertness, empathy; concern for her mother, knowledgeable (any two)

iz
V2

(1+
1) 4

24.

SECTION - E
(a) Finding the electrostatic potential 2 Marks
(b) Finding the work done 1 Mark
(c) Effect of change of path 1 Mark
(d) Potential energy of the system 1 Mark
(with justification in each case)

(a) We have, for a point charge,
V= 1 q

e, r

(i) Atpoint (0,0, z):
Potential due to the charge (+q),

-_1 q
4z eq (z+a)
Potential due to the charge (-q),
=1 9
dneqg (z—-a)
. g 1 1
Total potential at (0, 0, z) = -
dneglz+a zZ-a
_ -20a
4r € (Z2 - a2)

(ii) At point (x,y, 0)

Potential due to the charge + q
1 q

4r e IXZ +y2 432

Potential due to the charge (-q)

1 -q

4m eq /x2+y2+a2

Total potential at (x, y, 0)

V+:

V.=

Y

%

Y

QB365 - Question Bank Software
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=_4 1 _ 1 -0 %
4n g \/X2+y2+a2 \/X2+y2+a2

Note: Give full credit of part (ii) if a student writes that the point (x,y,0) is equidistant
from charges +q and —q, Hence total potential due to them at the given point will be
zero.

(b) Work done =q [V1- V3]
V1 =0and Vz =0
S work done =0
Where V; and V; are the total potential due to dipole at point (5,0,0) and (-7,0,0)
(c) There would be no change
This is because the electrostatic field is a conservative field.

V2
V2

V2
V2

( Alternatively : The work done, in moving a test charge between two given points is
independent of the path taken)

(d) The two given charges make an electric dipole of dipole moment p = q.ﬁ " 5

P.E. in position of unstable equilibrium (where p and E are antiparallel to each other)
=+pE=2aqkE
%

OR

(a) Finding the total energy before the capacitors are connected = 1 Mark

(b) Finding the total energy in the parallel combination 3 Marks
(c) Reason for difference 1 Mark
(a) We have

Energy Stored in a capacitor = %CV2
2

1 1
Energy stored in the charged capacitors E; = Eclvf And E; = ECZVZ2

1
.. Total energy stored = —Clv2 + C2V2
2 1 2 "
(b)Let V be the potential difference across the parallel combination.
Equivalent capacitance = (C; + C;)
%
Since charge is a conserved quantity, we have

(CL+C)V=C Vi + GV, Y
N Ve CiV1 +CorVo
(C1+C2) 1

Total energy stored in the parallel combination

- %(C1+C2)V2 %
_ 1(C1V1+C2V2)2
2 (C1+Cy) %

5
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(c) The total energy of the parallel combination is different (less) from the total 1
energy before the capacitors are connected. This is because some energy gets
used up due to the movement of charges during sharing of charge.
25. a) Drawing the two graphs Yo+ Vs
b) Drawing the phaser diagram 1
c) i) Naming the devices Yot Vs
ii) Calculating the current flowing 2
a) The two graphs are as shown
N Y +Y5
Inductive
Reactance
(Ohm)
Capacitive
Reactance
{Qhm)
Frequency (Hz) Frequency (Hiz) >
b) (The current leads the voltage by an angle © where 0 < © < 7T/Z). The required
phaser diagram is as shown. |
1
W
Here 6= tan[(1
| [ o) -~
[
( C) In device X:
Current lags behind the voltage byg
-~ X'is an inductor. %
In device Y:
Current is in phase with the applied voltage ;
~ X is a resistor. 7
We are given that
0.25=22
XL
or X, =222 = 8300 %
0.25
Also 0.25 = 0.25 = 222
XR
220
For the series combination of X and Y,
Equivalent impedance = /X? + X2 = (880v2 )Q %
. 220 _ Y 5
~ Current flowing = 38072 A=0177A
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OR

a) Principal of working — 1

b) Defining efficiency — 1

c) Anytwo factor—% + %

d) Calculating the current drawn - 2

a) Atransformer works on the principle of mutual induction.
(Alternatively — an emfis induced in the secondary coil when the magnetic flux,
linked with it changes with time due to ta (time) changing magnetic flux linked
with the primary coil).

b) The efficiency of a transformer equals the ratio of the output power to the
input power.
(Alteratively :

. . output power
Efficiency = SUIpt poer

input power 1

or Efficiency ::S ;5)
pPlp

c) i) Eddy current losses
ii) joule heat losses
iii) hysteresis losses
iv) magnetic flux leakage losses
(Any two)

Y%+

We have

Ysls _ 90%=0.9
Vp Ip

Y

220 I,
£ 222209
22 Iy

Y
I 0.9 :
S o= 9
Ip 0.1

s L :I_Sz(zz/%o)A %

P 9

1
=—A
180

%

= 0.0056A

a) Explaining the two processes- 1+1
Defining the two terms - Yo+ Vs

b) Circuit diagram -1
Working -1

a) The two important processes are diffusion and drift %
Due to concentration gradient, the electrons diffuse from the 7 side to the p
side and holes diffuse from the p side to the 7 side. V2
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< Eleciron diffusion
Electron drift —>

coo®
coad ;
) coo n %
coad
coad

: fe— Depletion region
Hole diffusion —>
<—— Hole drift
Due to the diffusion, an electric field develops across the junction. Due to the field, an
electron moves from the p-side to the n -side, a hole moves from the n-side to the p- %

side. The flow of the charge carriers due to the electric field, is called drift.

Depletion region:
It is the space charge region on either side of the junction, that gets depleted of free %
charges, is known as the depletion region.

Potential Barrier
The potential difference, that gets developed across the junction and opposes the YA
diffusion of charge carries and brings about a condition of equilibrium, is known as the
barrier potential.

b) The circuit diagram is as shown

A~ Volimeler(V)
{ %)
WS
1
P n
e
|~~/'..;
Milliamuneter
{mAl
| Switch
| |
+

Working

In forward bias condition, the direction of the applied voltage is opposite to the barrier
potential. This reduces the width of the depletion layer as well as the height of the barrier. 1
A current can, therefore, flow through the circuit. This current increases ( non linearly) 5
with increase in the applied voltage.

OR

a) Describing the three factors — 3
b) Drawing the wave forms —2

a) Itis necessary to modulate the audio frequency signals because of the following
three reasons:

i.  Size of the antenna or aerial %
This size needs to be comparable to the wavelength of the signal. It %
would be unmanageably long for audio frequency signals.

ii. Effective power readiated %

Power radiated, being proportional to G) 2would be very small for a %

audio frequency signal.
iii. Mixing up of different signals

Y

SET 55/1 Page 17 of 18

QB365 - Question Bank Software




QB365 - Question Bank Software

The audible frequency range is quite small. Hence if transformisson is

%
done at audio frequencies, the chances of mixing up of different signals
are very high.
b) The required wave forms are as shown
i Carrier wave
ii. Modulating Signal
iii.  Amplitude Modulated wave
%
\ S %
‘;0 05 ] 15 " 95 3
AN, T T Tl T ;
N e ) AP JANA WLy
e () for AMOF| 1111 f,\ZlJ“ AVAVRVATANAVAYAYAY: Y | \/II Ay \Z:\,Z'_\f \1
NRTRIRB U \.‘/v)‘ AR JL,\// X 1
-9 el 1 I B— 1 1 L
0 0.5 1 1.5 2 2.5 3
5
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